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Content Menu
®* 5m
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node- exporter
CPU

NodeCpuUsageRat e

100*(

O 0O 0O 0O O 0O 0O 0O O OO0 0O O 0 O0

1 - (avg by (#GROUPBY#) (irate(node_cpu_seconds_total {job="node-
exporter", node="idle" #LABELS#}[5n]))) .
) o

CPU

NodeCpuUsage

sun(irate(node_cpu_seconds_total {
j ob="node-exporter"”, node="idle" #LABELS#}[5n
)) by (#GROUPBY#)

[e]

NodeMenor yUsageRat e
100* (

avg(

(

avg_over _time(node_nenory_MenFree_byt es{j ob="node- exporter"
#LABELS#}[5n) +

avg_over _ti me(node_nenory_Cached_byt es{j ob="node- exporter"
#LABELS#}[5n) +

avg_over _time(node_nenory_Buffers_bytes{job="node-exporter"
#LABELS#} [ 5n )

)

/

avg_over _ti me(node_nenory_Mentot al _byt es{j ob="node-
exporter"#LABELS#} [ 5n )

)
by (#GROUPBY#)

)
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avg(
node_nenory_Menilot al _byt es{j ob="node- export er"#LABELS#} -

node_nenory_MenFr ee_byt es{j ob="node- export er " #LABELS#} -
(
node_nenory_Cached_byt es{j ob="node- export er"#LABELS#} +
node_nenory_Buf f ers_byt es{j ob="node- export er " #LABELS#}
)
) by (#GROUPBY#)

NodeSt or ageUsageRat e

100* sun(
1-(
node_fil esystem avail _byt es{j ob="node- exporter",
mount poi nt ="/", fstype!="rootfs"#LABELS#}
/
node_fil esystem si ze_byt es{j ob="node- exporter",
mount poi nt ="/", fstype!="rootfs"#LABELS#}

)
) by (#GROUPBY#)

NodeSt or ageUsage

sum(

node_fil esystem si ze_byt es{j ob="node- exporter", nountpoint="/",
fstype! ="rootfs" #LABELS#}

node_fil esystem avail _byt es{j ob="node-exporter”, nountpoint="/",
fstype! ="rootfs" #LABELS#}
) by (#GROUPBY#)

NodeByt esSent

sun(irate(node_network_transmit_bytes_total {
j ob="node-exporter", device!~"lo|nbd.*|sr.*|docker.*" #LABELS#
}[5m)) by (#GROUPBY#)

NodeByt esRecei ved

sun(irate(node_network_recei ve_bytes_total {
j ob="node-exporter", device!~"lo|nbd.*|sr.*|docker.*" #LABELS#
}[5m)) by (#GROUPBY#)

NodeByt esSent BandW dt h



sun(irate(node_network_transnmit_bytes_total{
j ob="node-exporter”, device!~"lo|nbd.*|sr.*|docker.*" #LABELS#
}[5m )/ 128) by (#GROUPBY#)

NodeByt esRecei vedBandW dt h

sun(irate(node_network_recei ve_bytes_total {
j ob="node-exporter”, device!~"lo|nbd.*|sr.*|docker.*" #LABELS#
}[5m )/ 128) by (#GROUPBY#)

IOPS

NodeSt or ageReadl OPS

sun(rate(node_di sk_read_time_seconds_total {
j ob="node-exporter”, device!~"lo|nbd.*|sr.*|docker.*" #LABELS#
}[5m)) by (#GROUPBY#)

IOPS

NodeSt or ageWi t el OPS

sun(rate(node_di sk_wites_conpleted_total{
j ob="node-exporter”, device!~"lo|nbd.*|sr.*|docker.*" #LABELS#
}[5m)) by (#GROUPBY#)

NodeSt or ageReadFl ow

sun(rate(node_di sk_read_bytes_total {
job="node-exporter”, device!~"lo|nbd.*|sr.*|docker.*" #LABELS#
}[5m)) by (#GROUPBY#)

NodeSt or ageW i t eFl ow

sun(rate(node_di sk_witten_bytes_total{
job="node-exporter”, device!~"lo|nbd.*|sr.*|docker.*" #LABELS#
}[5m)) by (#GROUPBY#)

TCP

NodeNet st at TCP

node_net st at _Tcp_CurrEst ab{j ob="node- exporter", device!~"lo|nbd.*|sr.
*| docker . *" #LABELS#}



cadvi sor kube- st at eexporter

pod
PodCPU
PodCpuUsageRat e
100*
sun(irate(container_cpu_usage_seconds_total {#LABELS#}[5n1)) by (#GROUPBY#)
/
sun( cont ai ner _spec_cpu_quot a{ #LABELS#}/ cont ai ner _spec_cpu_peri od

{ #LABELS#})
by (#GROUPBY#)

PodCPU

PodCpuUsage

sun(rate(container_cpu_usage_seconds_t otal {#LABELS#}[5n])) by (#GROUPBY#)

Pod

PodMenor yUsageRat e

sunm( cont ai ner _nmenory_wor ki ng_set _byt es{#LABELS#}) by (#GROUPBY#)
/
sun( cont ai ner_spec_nenory_| i mt_byt es{#LABELS#}) by (#GROUPBY#) <= 1

Pod

PodMenor yUsage

avg(cont ai ner _nenory_wor ki ng_set _byt es{#LABELS#}) by (#GROUPBY#)

Pod

PodSt or ageUsageRat e
100*
sum(
cont ai ner_fs_usage_byt es{#LABELS#} / (container_fs_limt_bytes

{#LABELS#} 1=0 )
) by (#GROUPBY#)

Pod

PodSt or ageUsage

avg(contai ner _fs_usage_byt es{#LABELS#}) by (#GROUPBY#)

Pod

PodByt esSent



sun(rate(contai ner_network_transnit_bytes_total {#LABELS#}[5n])) by
( #GROUPBY#)

Pod

PodByt esRecei ved

sun(rate(container_network_recei ve_bytes_total {#LABELS#}[5n])) by
(#GROUPBY#)

Pod

PodByt esSent BandW dt h

sun(rate(container_network_transmit_bytes_total {#LABELS#}[5n])/128) by
(#GROUPBY#)

Pod

PodByt esRecei vedBandW dt h

sun(rate(container_network_recei ve_bytes_total {#LABELS#}[5n])/128) by
( #GROUPBY#)

PodIOPS

PodsSt or ageReadl OPS

sun(rate(container_fs_reads_total {#LABELS#}[5n1)) by (#GROUPBY#)

PodIOPS

PodSt or ageWi t el OPS

sun(rate(container_fs_wites_total {#LABELS#}[5n])) by (#GROUPBY#)

Pod

PodSt or ageReadFl ow

sun(rate(container_network_tcp_usage_total {#LABELS#}[5n])) by (#GROUPBY#)

Pod

PodSt or ageW i t eFl ow

sun(rate(container_fs_reads_bytes_total {#LABELS#}[5n])) by (#GROUPBY#)

PodTCP

PodNet st at TCP

sunm(rate(container_fs_wites_total {#LABELS#}[5n])) by (#GROUPBY#)



container

CPU

Cont ai ner CpuUsageRat e
100*
sun(irate(container_cpu_usage_seconds_total {#LABELS#}[5n1)) by (#GROUPBY#)
/surr( cont ai ner _spec_cpu_quot a{ #LABELS#} / cont ai ner _spec_cpu_peri od

{ #LABELS#})
by (#GROUPBY#)

CPU

Cont ai ner CpuUsage

sun(rate(container_cpu_usage_seconds_t otal {#LABELS#}[5n])) by (#GROUPBY#)

Cont ai ner Menor yUsageRat e
sum( cont ai ner _menory_wor ki ng_set _byt es{#LABELS#}) by (#GROUPBY#)

/
sun(cont ai ner_spec_nenory_limt_bytes{#LABELS#}) by (#GROUPBY#) <= 1

Cont ai ner Menor yUsage

avg(cont ai ner _menory_wor ki ng_set _byt es{#LABELS#}) by (#GROUPBY#)

Cont ai ner St or ageUsageRat e
100*
sun(
cont ai ner_fs_usage_byt es{#LABELS#} / (container_fs_limt_bytes

{#LABELS#} != 0 )
) by (#GROUPBY#)

Cont ai ner St or ageUsage

avg(contai ner _fs_usage_byt es{#LABELS#}) by (#GROUPBY#)

Cont ai ner Byt esSent

sun(rate(container_network_transmit_bytes_total {#LABELS#}[5n1)) by
(#GROUPBY#)



Cont ai ner Byt esRecei ved

sun(rate(container_network_recei ve_bytes_total {#LABELS#}[5n])) by
(#GROUPBY#)

Cont ai ner Byt esSent BandW dt h

sun(rate(container_network_transnmit_bytes_total {#LABELS#}[5n])/128) by
( #GROUPBY#)

Cont ai ner Byt esRecei vedBandW dt h

sun(rate(contai ner_network_recei ve_bytes_total {#LABELS#}[5n])/128) by
(#GROUPBY#)

IOPS

Cont ai ner St or ageReadl OPS

sun(rate(container_fs_reads_total {#LABELS#}[5n])) by (#GROUPBY#)

IOPS

Cont ai ner St orageW it el OPS

sun(rate(container_fs_wites_total {#LABELS#}[5n1)) by (#GROUPBY#)

Cont ai ner St or ageReadFl ow

sun(rate(container_network_tcp_usage_total {#LABELS#}[5n])) by (#GROUPBY#)

Cont ai ner St orageW it eFl ow

sun(rate(container_fs_reads_bytes_total {#LABELS#}[5n])) by (#GROUPBY#)

TCP

Cont ai ner Net st at TCP

sun(rate(container_fs_wites_total {#LABELS#}[5n])) by (#GROUPBY#)
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